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g = 0.05; £ W/m"2
Tin = 1300; & C

Ts = 0; % ¢

K = 5; % W/mK
k = 10"-6; & m*2/s
t = (K*(Tin-Ts)/(sqrt(pi*k)*q))”"2;

pl_t my = t/(60*60%24*365*1076)

% P2

age = [200 10 50]; % my
age_sec = age*60%*60*24%365*%1076; %t s

P2_g_avg = 2*K*(Tin-Ts)./sqrt(pi*k*age_sec)

area = age*20*1000%10"6; & m"2
heat = area.*p2_gavg; 2 W
p2_heat_loss_W = heat

3 P3

alpha = 3*10"-5; $ 1/C

Th = 1290; g C
rho_m = 3300; % kg/m"3
rho_w = 1000; % kg/m"3
t =111 10 100]; % my

t sec = t*60*%60%24*365*1076; % s

subsidence = sqrt(k.*t_sec/pi)*2*alpha*(Tin-Ts)*(rho_m/(rho m-rho w));
p3_subsidence_km = subsidence/1000

z = 1.88*2*sqrt(k*t_sec);
p3_thickness_km = z/1000

pl_t my =
170.5808 . _
a
pz_q_avg?= ﬁj‘ ) z
0.0924 0.4130 0.1847

2 _heat loss W =
1.0e+11 *
3.6941 0.8260 1.8471

p3_subsidence km =
0.3546 1.1213 3.5458

p3_thickness km =
21.1150 66.7715 211.1500
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